
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes (exponentes negativos)

(−2) + 5 =2 1 + 3 =2

3 − 10 = 6 − (−7) =2

(−7) − 5 =(−2) (−10) − 3 =2

(−9) − 2 =2 4 − 10 =(−2)

(−8) − (−3) =2 9 − (−1) =(−1)

(−4) − 4 =(−1) (−8) + (−4) =2

(−6) + (−7) =2 5 − (−10) =(−1)

(−4) + (−7) =(−1) 7 + (−1) =(−1)

(−8) + (−8) =(−1) (−1) + 4 =2

8 − 2 =(−2) (−9) + (−8) =(−1)
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes (exponentes negativos)

(−2) + 5 = 92 1 + 3 = 42

3 − 10 = (−7) 6 − (−7) = 432

(−7) − 5 = (− ) = (−4 )(−2)

49
244

49
48

(−10) − 3 = 972

(−9) − 2 = 792 4 − 10 = (− ) = (−9 )(−2)

16
159

16
15

(−8) − (−3) = 672 9 − (−1) = = 1(−1)

9
10

9
1

(−4) − 4 = (− ) = (−4 )(−1)

4
17

4
1

(−8) + (−4) = 602

(−6) + (−7) = 292 5 − (−10) = = 10(−1)

5
51

5
1

(−4) + (−7) = (− ) = (−7 )(−1)

4
29

4
1

7 + (−1) = (− )(−1)

7
6

(−8) + (−8) = (− ) = (−8 )(−1)

8
65

8
1

(−1) + 4 = 52

8 − 2 = (− ) = (−1 )(−2)

64
127

64
63

(−9) + (−8) = (− ) = (−8 )(−1)

9
73

9
1
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